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There was a high standard of learning for women also. In house, they might learn music and dancing. They
had to undergo the Upanayana ceremony.

There were two types of educated women.
1. Sadvodwahas : They are people who pursued studies till their marriages.

2. Brahmavadinis : They are people who did not marry and pursued studies throughout their lives. Women
used to learn vedas and vedangas. Their involvement was more in reciting hymns other ritualistic operations.
Women sages were called Rishikas. The scholarly women could be named as Maitrey: and Gargi.

This phase marks another transition from the spirit of Brahmanas to the spirit of the Upanishads. While the
Brahmanas are called Karma Kanda (Karma 1s another word for yajna) because of total known as Jnana
kanda because here knowledge becomes primary. Since the shift involved total change in attitude, it needed a
link. This phase is called Aranyanka because it became relevant when men retired to forests due to old age.
Why should old people retire to forests? Surely. this is a provoking. If old people retired to forest. then it must
be due to strong affinity to the place of origin, which prompted them to choose so.

Hence, proper study of philosophy begins only from the Upanishads. In this connection, one question remains
to be answered. The Aranyakas Constitute a phase in the life an individual.

Subjects in Vedic Education :

It might take twelve years for a student to develop expertise in one Veda and thereafter, it would be twelve
years. thirty six years and so on. A graduate was called Snataka and the graduation ceremony was called
Samavartana.

Let's have a look at some other subjects.

1. Ttihas- History

| )

. Anviksiki ( logic)

L%

. Mimamsa (Interpretation)

=N

. Shilpashastra (architecture)
5. Arthashastra (polity)

Sub questions

Question Number : 1 Question Id : 68634019848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Samavartana means :

1. Process of not marring and retiring to jungle

| ]

. Ceremony associated with the snataka.
3. Perusing study till marring

4, Process where knowledge is primary

Options :



68634078401. 1
68634078402. 2
68634078403. 3
68634078404. 4

Question Number : 2 Question Id : 68634019849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which as/ are not the synonyms of affinity

A Harmony

B. Rapport

C. sympathy

D. Aversion

1. B Only

2. B and D Only

. CandD

[ ¥]

4. D Only

Options :

68634078405. 1
68634078406. 2
68634078407. 3
68634078408. 4

Question Number : 3 Question Id : 68634019850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The number of months required to expertise in all vedas for a student 1s :
1.576

2. 732

144

L]

4, 288

Options :

68634078409. 1
68634078410. 2
68634078411. 3
68634078412. 4

Question Number : 4 Question Id : 68634019851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which was not a part of Vedic education as per the list given?
1. Renunciation
2. Commerce and trade
3. Recreational archives

4. Yogasadhana

Options :

68634078413. 1
68634078414. 2
68634078415. 3
68634078416. 4

Question Number : 5 Question Id : 68634019852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al'ﬂllﬂll}fﬂkﬂ means .

1. Rishikas

[

. Brahmanas

Laa

. The phase Depicting transition from spirit of Brahmanas to the spirit of the Upanishads

4. An old man going to the forests

Options :

68634078417. 1
68634078418. 2
68634078419. 3
68634078420. 4

Question Id : 68634019847 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



There was a high standard of learning for women also. In house, they might learn music and dancing. They
had to undergo the Upanayana ceremony.

There were two types of educated women.
1. Sadvodwahas : They are people who pursued studies till their marriages.

2. Brahmavadinis : They are people who did not marry and pursued studies throughout their lives. Women
used to learn vedas and vedangas. Their involvement was more in reciting hymns other ritualistic operations.
Women sages were called Rishikas. The scholarly women could be named as Maitrey: and Gargi.

This phase marks another transition from the spirit of Brahmanas to the spirit of the Upanishads. While the
Brahmanas are called Karma Kanda (Karma 1s another word for yajna) because of total known as Jnana
kanda because here knowledge becomes primary. Since the shift involved total change in attitude, it needed a
link. This phase is called Aranyanka because it became relevant when men retired to forests due to old age.
Why should old people retire to forests? Surely. this is a provoking. If old people retired to forest. then it must
be due to strong affinity to the place of origin, which prompted them to choose so.

Hence, proper study of philosophy begins only from the Upanishads. In this connection, one question remains
to be answered. The Aranyakas Constitute a phase in the life an individual.

Subjects in Vedic Education :

It might take twelve years for a student to develop expertise in one Veda and thereafter, it would be twelve
years. thirty six years and so on. A graduate was called Snataka and the graduation ceremony was called
Samavartana.

Let's have a look at some other subjects.

1. Ttihas- History

| B

. Anviksiki ( logic)

L%

. Mimamsa (Interpretation)

=N

. Shilpashastra (architecture)
5. Arthashastra (polity)

Sub questions

Question Number : 1 Question Id : 68634019848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Samavartana means :

1. Process of not marring and retiring to jungle

| ]

. Ceremony associated with the snataka.
3. Perusing study till marring

4, Process where knowledge is primary

Options :



68634078401. 1
68634078402. 2
68634078403. 3
68634078404. 4

Question Number : 2 Question Id : 68634019849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which as/ are not the synonyms of affinity

A Harmony

B. Rapport

C. sympathy

D. Aversion

1. B Only

2. B and D Only

. CandD

[ ¥]

4. D Only

Options :

68634078405. 1
68634078406. 2
68634078407. 3
68634078408. 4

Question Number : 3 Question Id : 68634019850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The number of months required to expertise in all vedas for a student 1s :
1.576

2. 732

144

L]

4, 288

Options :

68634078409. 1
68634078410. 2
68634078411. 3
68634078412. 4

Question Number : 4 Question Id : 68634019851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which was not a part of Vedic education as per the list given?
1. Renunciation
2. Commerce and trade
3. Recreational archives

4. Yogasadhana

Options :

68634078413. 1
68634078414. 2
68634078415. 3
68634078416. 4

Question Number : 5 Question Id : 68634019852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al'ﬂllﬂll}fﬂkﬂ means .

1. Rishikas

[

. Brahmanas

Laa

. The phase Depicting transition from spirit of Brahmanas to the spirit of the Upanishads

4. An old man going to the forests

Options :

68634078417. 1
68634078418. 2
68634078419. 3
68634078420. 4

Sub-Section Number : 2
Sub-Section Id : 686340654
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634019853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions given form the following options :

Lord Buddha realised the need ................... educating devotees............... a massive scale. Budhhist education
started 2,600 years ago. It was collective ................. the sence that it was not based............ cast system

1. Of. on. from. with
2. with. on. in. of
3. of on. in. on

4. of. i for, on

Options :

68634078421. 1
68634078422. 2
68634078423. 3
68634078424. 4

Question Number : 6 Question Id : 68634019853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given form the following options :

Lord Buddha realised the need .................... educating devotees............... a massive scale. Budhhist education
started 2,600 years ago. It was collective ................. the sence that it was not based............ cast system

1. Of. on. from. with
2. with. on. . of
3. of on. in. on

4. of. in for, on

Options :

68634078421. 1
68634078422. 2
68634078423. 3
68634078424. 4

Question Number : 7 Question Id : 68634019854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Replace the underlined expression with on idiom.

My uncle is very short tempered. So Whenever he visits us all of us at home are being extra careful.

1. At szea

2

. Dribs and drabs
3. Walking on egg shells

4. Walking the plan

Options :

68634078425. 1
68634078426. 2
68634078427. 3
68634078428. 4

Question Number : 7 Question Id : 68634019854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Replace the underlined expression with on idiom.

My uncle is very short tempered. So Whenever he visits us all of us at home are being extra careful.

1. At zea

[

. Dribs and drabs
3. Walking on egg shells

4, Walking the plan

Options :

68634078425. 1
68634078426. 2
68634078427. 3
68634078428. 4

Question Number : 8 Question Id : 68634019855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the sentence with the correct subject verb agreement

1. Annotated Readings is necessary for on insight ful Understanding for the text and helps students better internalize
the material.

2. Annotated Readings are necessary for an msightful understanding of the text and help students better
internalize the material.

3. Annotated Readings are necessary for an insightful understanding of the text and helps students better
internalize the material.

4. Annotated Readings in necessary for an insightful understanding of the text and help students
betters Internalize the material

Options :

68634078429. 1
68634078430. 2
68634078431. 3
68634078432. 4

Question Number : 8 Question Id : 68634019855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the sentence with the correct subject verb agreement

1. Annotated Readings is necessary for on insight ful Understanding for the text and helps students better internalize
the material.

()

. Annotated Readings are necessary for an insightful understanding of the text and help students better
internalize the material.

3. Annotated Readings are necessary for an isightful understanding of the text and helps students better
internalize the material.

4. Annotated Readings in necessary for an insightful understanding of the text and help students
betters Internalize the material

Options :

68634078429. 1
68634078430. 2
68634078431. 3
68634078432. 4

Question Number : 9 Question Id : 68634019856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The prominently visible parts on the front size of an objectas @ ..............

1. Starling

[

. simplex
3. salience

4. Rosaline

Options :

68634078433. 1
68634078434.2
68634078435. 3
68634078436. 4

Question Number : 9 Question Id : 68634019856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The prominently visible parts on the front size of an objectas @ ..o
1. Starling
2. simplex
3. salience

4, Rosaline

Options :

68634078433. 1
68634078434.2
68634078435. 3
68634078436. 4

Question Number : 10 Question Id : 68634019857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the Coreect spelling of the word from the options given below:

1. Reverberation

[ ]

. Riverberation
3. Revirberation

4. Revarberation

Options :

68634078437. 1
68634078438.2
68634078439. 3
68634078440. 4



Question Number : 10 Question Id : 68634019857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the Coreect spelling of the word from the options given below:

1. Reverberation

| ]

. Riverberation
3. Revirberation

4, Revarberation

Options :

68634078437. 1
68634078438. 2
68634078439. 3
68634078440. 4

Question Number : 11 Question Id : 68634019858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The next member of the given series 1s :

B,18,23.50, 72, i

1. 120

| ]

.90
3.92

4. 98

Options :

68634078441. 1
68634078442. 2
68634078443. 3
68634078444. 4

Question Number : 11 Question Id : 68634019858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The next member of the given series is :

B,18,23.50, 72, i

1. 120

2

.90
3.92

4. 98

Options :

68634078441. 1
68634078442. 2
68634078443. 3
68634078444. 4

Question Number : 12 Question Id : 68634019859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A faulty mmute hand covers only 90% of the circle per hour. If 1t starts from eight in how many minutes 1t will
reach the seven mark at the given speed :

1..53
2.58

.61

(5]

4. 64

Options :

68634078445. 1
68634078446. 2
68634078447. 3
68634078448. 4

Question Number : 12 Question Id : 68634019859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A faulty mimute hand covers only 90% of the circle per hour. If it starts from eight in how many minutes it will
reach the seven mark at the given speed :

1. 53
2.58

.61

LFS]

4. 064

Options :



68634078445. 1
68634078446. 2
68634078447. 3
68634078448. 4

Question Number : 13 Question Id : 68634019860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The age of father in 1980 was twice that of his son's present age. If the present age of son 1s X year and age of
tather 15 79 vears than value of X 15 :

1. 15 Year
2. 17 Year

.23 Year

LFS]

4, 18 Year

Options :

68634078449. 1
68634078450. 2
68634078451. 3
68634078452. 4

Question Number : 13 Question Id : 68634019860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The age of father in 1980 was twice that of his son's present age. If the present age of son 1s X year and age of
tather 15 79 yvears than value of X 15 :

1. 15 Year
2. 17 Year

.23 Year

L]

4, 18 Year

Options :

68634078449. 1
68634078450. 2
68634078451. 3
68634078452. 4

Question Number : 14 Question Id : 68634019861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The product of 25% of x and 120% of y = .....ccccvevvvereeee. Yo of ()

4. 60

Options :

68634078453. 1
68634078454.2
68634078455. 3
68634078456. 4

Question Number : 14 Question Id : 68634019861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The product of 25% of x and 120% of y = .....cccevvevrnrenee. %o of (13)
1. 30

%25

4,60

Options :

68634078453. 1
68634078454.2
68634078455. 3
68634078456. 4

Question Number : 15 Question Id : 68634019862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average speed of a train in four hours, running at 36 km'h in first hour, 72 km per hour in second hour and
108 km/h m the last two hours in (m/s) 1s

1. 15

!_J
-8
n

L]
=N
n
| S

4. 30

Options :

68634078457. 1
68634078458. 2
68634078459. 3



68634078460. 4

Question Number : 15 Question Id : 68634019862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average speed of a train in four hours, running at 36 km'h in first hour, 72 km per hour in second hour and
108 km/h m the last two hours in (m/s) 1s

1.15

!_J
-8
n

LFS]
e
L
[ ]

Options :

68634078457. 1
68634078458. 2
68634078459. 3
68634078460. 4

Question Number : 16 Question Id : 68634019863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given series : 85, 43, 44, 67.5, 137. 345 observe the series given and by establishing the same relation m 125,
(A). (B). (C). (D). (E). Find what will come 1s place of (C) ?

1. 86

()

. 107.5
3.112.5

4. 97.5

Options :

68634078461. 1
68634078462. 2
68634078463. 3
68634078464. 4

Question Number : 16 Question Id : 68634019863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given series : 85, 43, 44, 67.5. 137. 345 observe the series given and by establishing the same relation in 125,
(A). (B). (C). (D). (E). Find what will come is place of (C) ?

1. 86

[

. 107.5

4.97.5

Options :

68634078461. 1
68634078462. 2
68634078463. 3
68634078464. 4

Question Number : 17 Question Id : 68634019864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vartika went 90 meters in the east before turning to her right. She went 20 meters before turring to her right
again. She walked 30 metres further and then turring to north she walked 100 metres. How far 1s vartika from.
Her starting point?

1. 80 metres

()

. 100 metres
3. 140 metres

4, 260 metres

Options :

68634078465. 1
68634078466. 2
68634078467. 3
68634078468. 4

Question Number : 17 Question Id : 68634019864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vartika went 90 meters in the east before turning to her right. She went 20 meters before turring to her right
again. She walked 30 metres further and then turring to north she walked 100 metres. How far is vartika from.
Her starting point?

1. 80 metres

[

. 100 metres

3. 140 metres

4, 260 metres



Options :

68634078465. 1
68634078466. 2
68634078467. 3
68634078468. 4

Question Number : 18 Question Id : 68634019865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indentify the water-image of the word "bridge"

Lp1Igge
pLIqgge

p1iqge
«PIIPRG

Options :

68634078469. 1
68634078470. 2
68634078471. 3
68634078472. 4

()

[ ]

Question Number : 18 Question Id : 68634019865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indentify the water-image of the word "bridge"

Lp1Igge
pLIiqgge

p1iqsge
«pIIpgG

Options :

68634078469. 1
68634078470. 2
68634078471. 3
68634078472. 4

()

[ ]

Question Number : 19 Question Id : 68634019866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

There 1s a certain relation between two given words on one side of : : and one word 15 given on another side of
: : while another word 1s to be found from the given alternatives. Choose the correct pair bear.

Roster : Duty : : Inventory : 7
1. Furnace
2. Export's
3. Goods

4, Produce

Options :

68634078473. 1
68634078474. 2
68634078475. 3
68634078476. 4

Question Number : 19 Question Id : 68634019866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There 15 a certain relation between two grven words on one side of : : and one word is given on another side of
: : while another word 1s to be found from the given alternatives. Choose the correct pair bear.

Roster : Duty : : Inventory : 7
1. Furnace
2. Export's
3. Goods

4, Produce

Options :

68634078473. 1
68634078474. 2
68634078475. 3
68634078476. 4

Question Number : 20 Question Id : 68634019867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Introducing a boy. a girl said, " He 1s the son of the daughter of the father of my uncle". How is the boy related
to the girl?

1. Cousin

[

. Nephew

. Uncle

L]

4. Son-n-law

Options :

68634078477. 1
68634078478. 2
68634078479. 3
68634078480. 4

Question Number : 20 Question Id : 68634019867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Introducing a boy. a girl said, " He 1s the son of the daughter of the father of my uncle". How 1s the boy related
to the girl?

1. Cousin

()

. Nephew

. Unecle

(5]

4. Son-n-law

Options :

68634078477. 1
68634078478. 2
68634078479. 3
68634078480. 4

Question Number : 21 Question Id : 68634019868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who 18 world's  first female amputee 18 climb Mount Everest?
1. Tunko Tabe:
2. Arunima Sinha
3. Malavati Puna
4. Erika Weihehmayes
Options :

68634078481. 1
68634078482. 2



68634078483. 3
68634078484. 4

Question Number : 21 Question Id : 68634019868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s world's  first female amputee 13 climb Mount Everest?
1. Junko Tabei
2. Arunima Sinha
3. Malavati Puna
4. Erika Wethehmayes

Options :

68634078481. 1
68634078482. 2
68634078483. 3
68634078484. 4

Question Number : 22 Question Id : 68634019869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Sahitya Academi Award 1s the second highest Indian Litracy Award. It 15 given in 22 languages.

Statement IT: R K. Narayan wat the first recipient of Sahitya Academi Award. He got it for his book Malgudi
Days.

In the light of the above statements. choose the correct answer from the options given below
1. Both statement I and Statement II are true
2. Bothe statement [ and Statement IT are false
3. Statement I is true but statement IT 1s false

4, Statement I is False but statement IT 1s true

Options :

68634078485. 1
68634078486. 2
68634078487. 3
68634078488. 4

Question Number : 22 Question Id : 68634019869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement I: Sahitya Academi Award 1s the second highest Indian Litracy Award. It 15 given in 22 languages.

Statement IT: R K. Narayan wat the first recipient of Sahitya Academi Award. He got it for his book Malgudi
Days.

In the light of the above statements. choose the correct answer from the options given below
1. Both statement I and Statement II are true
2. Bothe statement [ and Statement IT are false
3. Statement I is true but statement IT 1s false

4, Statement I is False but statement IT 1s true

Options :

68634078485. 1
68634078486. 2
68634078487. 3
68634078488. 4

Question Number : 23 Question Id : 68634019870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Books) LIST IT (Writers)
A PMudrarakshasa I. |Panin
B. [Abhigvan Shakuntalam | II. [Visakadatta
C. [Pancha Tantra ITT. [Kalidasa
D. |Ashtadhvayi IV |Vishnu Sharma
Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV

| ]

CA-IL B-IIL C-IV, D-I
3. A-IV. B-IIL. C-II. D-I

4, A-II1, B-1. C-IV, D-II

Options :

68634078489. 1
68634078490. 2
68634078491. 3
68634078492. 4

Question Number : 23 Question Id : 68634019870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Books) LIST IT (Writers)
A Mudrarakshasa [. |Panim
B. |Abhigvan Shakuntalam | IT. |Visakadatta
C. [Pancha Tantra I1I. [Kalidasa
D. |Ashtadhvayi IV |Vishnu Sharma
Choose the correct answer from the options given below:

1. A-I. B-1I, C-III, D-IV

| )

CA-IL B-IIL C-IV, D-I
3. A-TIV, B-III. C-I1, D-I

4, A-II1, B-1. C-IV, D-II

Options :

68634078489. 1
68634078490. 2
68634078491. 3
68634078492. 4

Question Number : 24 Question Id : 68634019871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A black hole 1s remnant of a massive star which has collapsed. It 13 a Volume of space where
gravitiy 1s so strong that nothing not even light can escape fun it.

Statement IT : Its presence was first announced by galileo Galili in 1783

In the light of the above statements. choose the correct answer from the option given below

1. Both Statement I and Statement IT are true

(]

. Both Statement I and Statement IT are false

. Statement I 1s false but statement II 1s false

L]

4. Statement I 15 false but Statement I1 1s true

Options :

68634078493. 1
68634078494, 2
68634078495. 3
68634078496. 4

Question Number : 24 Question Id : 68634019871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : A black hole 15 remnant of a massive star which has collapsed. It 18 a Volume of space where
gravitiy 18 so strong that nothing not even light can escape fun it.

Statement IT : Its presence was first announced by galileo Galili in 1783
In the light of the above statements. choose the correct answer from the option given below

1. Both Statement I and Statement IT are true

()

. Both Statement I and Statement II are false
3. Statement I is false but statement II 1s false

4. Statement I 15 false but Statement I1 1s true

Options :

68634078493. 1
68634078494. 2
68634078495. 3
68634078496. 4

Question Number : 25 Question Id : 68634019872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rowlatt Act (1919) was passed through the Imperial Legislative Couneil to :
1. Increase taxes and custom duties on civilians
2. Force villages to supply solders and there was forced recruitment of common people

3. Gave Government enormous power is to repress political activates and allowed detention of anybody
suspected

4. Arrest workers who joined hands against racism

Options :

68634078497. 1
68634078498. 2
68634078499. 3
68634078500. 4

Question Number : 25 Question Id : 68634019872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rowlatt Act (1919) was passed through the Imperial Legislative Couneil to :
1. Increase taxes and custom duties on civilians
2. Force villages to supply solders and there was forced recruitment of common people

3. Gave Government enormous power is to repress political activates and allowed detention of anybody
suspected

4. Arrest workers who joined hands against racism

Options :

68634078497. 1
68634078498. 2
68634078499. 3
68634078500. 4

Part B: Biochemistry

Section Id : 686340394
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340655
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634019873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Identify the correct statement about Homotropie.
1. For regulatory enzymes substrate and modulator are identical
2. Modulator is a molecule other than substrate
3. Less- active enzyme
4. Active enzyme substrate complex
Options :
68634078501. 1
68634078502. 2

68634078503. 3
68634078504. 4



Question Number : 26 Question Id : 68634019873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078501. 1
68634078502. 2
68634078503. 3
68634078504. 4

Question Number : 27 Question Id : 68634019874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Diisopropyl phosphofluoridate (DIPF) act as:

1. Inhibitor of enzymes with serine at active site
2. A type of irreversible inhibitor
3. Reduces the synthesis of prostaglandin
4. Mechanism based inhibitor

Options :

68634078505. 1

68634078506. 2

68634078507. 3
68634078508. 4

Question Number : 27 Question Id : 68634019874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078505. 1
68634078506. 2
68634078507. 3
68634078508. 4

L

Question Number : 28 Question Id : 68634019875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Type IV- delayed hypersensitivity is not caused by

1. Macrophage

| )

. Lymphokines

LIPS ]

. Circulating antibodies
4. T- cells

Options :

68634078509. 1
68634078510. 2
68634078511. 3
68634078512. 4

Question Number : 28 Question Id : 68634019875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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- ynuily yldreft
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Options :
68634078509. 1

| )
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68634078510. 2
68634078511. 3
68634078512. 4

Question Number : 29 Question Id : 68634019876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following statement is correct about enzyme ?
1. A bio catalyst that increases the rate of chemical reaction
2. A biocatalyst that inhibit the rate of chemical reaction
3. Non specific in nature
4. All enzymes are proteinacious in nature
Options :
68634078513. 1
68634078514. 2

68634078515. 3
68634078516. 4

Question Number : 29 Question Id : 68634019876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078513. 1
68634078514. 2
68634078515. 3
68634078516. 4

—
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Question Number : 30 Question Id : 68634019877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Oxidases act as
1. Use oxygen as an electron acceptor but donot incorporate it into the substrate.
2. Directly incorporate oxygen into the substrate

3. Use H,0, as an electron acceptor

4. Use molecules other than oxygen (eg : NAD") as an electron acceptor
Options :
68634078517. 1
68634078518. 2

68634078519. 3
68634078520. 4

Question Number : 30 Question Id : 68634019877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3ifaHiS e B ST g
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Options :

68634078517. 1
68634078518. 2
68634078519. 3
68634078520. 4

Question Number : 31 Question Id : 68634019878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Enantiomers are special type of stereoisomers that are:

1. isobars of each other

2

. isotopes of each other
3. Not the mirror image of each other
4, Mirror image of each other

Options :



68634078521. 1
68634078522. 2
68634078523. 3
68634078524. 4

Question Number : 31 Question Id : 68634019878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ylafdedl. Eifagifde=dial &1 fagy yeR €. S
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U T P I §
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Options :

68634078521. 1
68634078522. 2
68634078523. 3
68634078524. 4
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Question Number : 32 Question Id : 68634019879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the biologically active form of vitamin-D that regulates calciam levels in the kidney
and bones?

1. 7-dehydrocholesterol

| )

. 24. 25-dihydroxycholecalciferol
3. 1-e-25- dihydroxycholecalciferol
4. Cholecalcitferol

Options :

68634078525. 1
68634078526. 2
68634078527. 3
68634078528. 4

Question Number : 32 Question Id : 68634019879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078525. 1
68634078526. 2
68634078527. 3
68634078528. 4

Question Number : 33 Question Id : 68634019880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Biological value of proteins can be defined as -

. Nitrogen retained

1. BV =— » 100
Nitrogen absorbed
> BV = N%trogcn ?ctaincd <100
Nitrogen ingested
Nitrogen retained
3. BV =— bl %100
Nitrogen absorbed —Nitrogen retained
4 BV = N1.Irugcn szsorbcd <100
Nitrogen ingested
Options :

68634078529. 1
68634078530. 2
68634078531. 3
68634078532. 4

Question Number : 33 Question Id : 68634019880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e @ Sifas 7 Y YeR vefdia ik &

_ Nitrogen retained

1. BV =— x 100
Nitrogen absorbed

2 BV= an'ogcn Fctamcd <100
Nitrogen ingested

3.BV = — Nitrogen rc'l'aincd 100
Nitrogen absorbed —Nitrogen retained

4 BV = N1‘Imgcn z::bsorbcd <100
Nitrogen ingested

Options :

68634078529. 1
68634078530. 2
68634078531. 3
68634078532. 4

Question Number : 34 Question Id : 68634019881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following parameter is used to assess the rise in msulin following consumption of any food

1. PDCAAS
2. Nitrogen balance
3. Glycemic Index
4. Glycogen Index

Options :

68634078533. 1

68634078534. 2

68634078535. 3
68634078536. 4

Question Number : 34 Question Id : 68634019881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. FTEClor 3agy
3. TS s oy
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Options :

68634078533. 1
68634078534. 2
68634078535. 3
68634078536. 4

Question Number : 35 Question Id : 68634019882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Water can dissolve many organic molecules due to

1. Dipolar character and ability to form hydrogen bond

| )

. Hydrophilic character and lngh conductance

%]

. Amphiphilic character and high insultation capacity

=

. Hydrophobic character and ability to form disulfide bond

Options :

68634078537. 1
68634078538. 2
68634078539. 3
68634078540. 4

Question Number : 35 Question Id : 68634019882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o fafird SRIgE ulsi B 49 701 & SR °ie FHdl 5 |
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Options :



68634078537. 1
68634078538. 2
68634078539. 3
68634078540. 4

Question Number : 36 Question Id : 68634019883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cellulose 1s an unbranched polymer of glucose residues joined by

1. o-1, 4 linkage

[ )

. a-1, 6 linkage
3. B-1. 4 linkage
4. p-1. 6 linkage

Options :

68634078541. 1
68634078542. 2
68634078543. 3
68634078544. 4

Question Number : 36 Question Id : 68634019883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y, T 19 WS &1 74 &% & STYR IR &1 =G 9509 ¢

1.0c-1.46Y

| )
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Options :

68634078541. 1
68634078542.2
68634078543. 3
68634078544. 4

Question Number : 37 Question Id : 68634019884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A person having a BMI of 35 will be categorized as

1. Healthy

2

. Grade I obesity/ overweight

LFS]

. Grade II/ Clinical obesity
4, Grade III/Morbid Obesity

Options :

68634078545. 1
68634078546. 2
68634078547. 3
68634078548. 4

Question Number : 37 Question Id : 68634019884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
35 BIVII T oA 4 4oft & Tar smer
1. ¥

. guft 1 Jrerar/ sifafed YR

| B

9l 11/ SeliHad Tl

4. 9} 111 / T Hiemar

Options :

68634078545. 1
68634078546. 2
68634078547. 3
68634078548. 4

%]

Question Number : 38 Question Id : 68634019885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following additives need to be added to the blood sample to prepare serum for any clinical
analysis?

1. Citrate

| )

. Oxalate
3. EDTA
4. No additives are required

Options :



68634078549. 1
68634078550. 2
68634078551. 3
68634078552. 4

Question Number : 38 Question Id : 68634019885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078549. 1
68634078550. 2
68634078551. 3
68634078552. 4

Question Number : 39 Question Id : 68634019886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Prostaglandins are synthesized in vivo from the 20-carbon polyunsaturated fatty acid
1. Oleic acid
2. Arachidonic acid
3. Cervonic acid

4, Linoleic acid

Options :

68634078553. 1
68634078554. 2
68634078555. 3
68634078556. 4

Question Number : 39 Question Id : 68634019886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WRETTRIS &1 HLWINUl Sitdl § 20-STaH dTel (49 uidisit=gRics awdiig s ¥ fear s g
1. Hifere 3

 IRfPSHID 3

RIS 3

4, ferifere st

Options :

68634078553. 1
68634078554. 2
68634078555. 3
68634078556. 4

| )

L

Question Number : 40 Question Id : 68634019887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Creatinine 1s used to assess the renal glomerular functions because

1. Creatinine is easy to estimate

| )

. The value of creatinine clearance is close to GFR
3. The excretion of ereatinine is not constant
4. All of the above

Options :

68634078557. 1

68634078558. 2

68634078559. 3
68634078560. 4

Question Number : 40 Question Id : 68634019887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634078557. 1
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68634078558. 2
68634078559. 3
68634078560. 4

Question Number : 41 Question Id : 68634019888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 20 year old boy was advised a liver function test by the doctor upon complaining of pain in the abdominal
region and yellowing of nails. Subsequently he was diagnosed of hepatic jaundice. Which of the following
would you expect in his test report ?

1. Increased activity of ALT and AST

[

. Only increased activity of ALP
3. Only increased activity of AST
4. Only increased activity of ALT

Options :

68634078561. 1

68634078562. 2

68634078563. 3
68634078564. 4

Question Number : 41 Question Id : 68634019888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078561. 1
68634078562. 2
68634078563. 3
68634078564. 4

Question Number : 42 Question Id : 68634019889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Niemann- Pick disease 1s caused due to a genetic deficiency of
1. p- Galoctosidase
2. Ceramidase
3. Sphingomyelinase
4, « - Galoctosidase

Options :

68634078565. 1
68634078566. 2
68634078567. 3
68634078568. 4

Question Number : 42 Question Id : 68634019889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-0 e 7 9 Saiie Sl & SRU B 8l
1. IR IS S
2. sy

[ =

3. [EbmaEieHy

. TS

Options :

68634078565. 1
68634078566. 2
68634078567. 3
68634078568. 4

Question Number : 43 Question Id : 68634019890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The condition fatal infantile mitochondrial myopathy and renal dysfunction involves

1. Presence of fumarate

[ )

. Absence of most oxidoreductases of respiratory chain
3. Presence of most oxidoreductases of respiratory chain

4. Absence of succinate

Options :
68634078569. 1



68634078570. 2
68634078571. 3
68634078572. 4

Question Number : 43 Question Id : 68634019890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qab I SRR T TSas! DI SR GYT Sl-dal gTb-cled Higcipiigad Al & Y soféa §
1. TgARE B FURRYTd
YT 2REe & gl aisiReaed B ufd
YT e & ggYT iaisiNs ey B SuUfd
 HIBIIE DI Ui

[ ]

L]

S

Options :

68634078569. 1
68634078570. 2
68634078571. 3
68634078572. 4

Question Number : 44 Question Id : 68634019891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 1s not a part of the cytoskeleton?

1. Serpin

| B

. Tubulin
3. Actin
4, Kelatin

Options :

68634078573. 1
68634078574. 2
68634078575. 3
68634078576. 4

Question Number : 44 Question Id : 68634019891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeiEd & 9 &9 S UoR & YR e 8 2
1. IR0
. Ufded
4, %@l é'_‘l
Options :
68634078573. 1
68634078574. 2

68634078575. 3
68634078576. 4

| )

L

Question Number : 45 Question Id : 68634019892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cyanide 1s probably the most potent mnhibitor of electron transport chain. It binds to:

1. NADH dehydrogenase

| )

. ATP synthase

3. Succinate dehydrogenase

4. Fe*™ of cytochrome oxidase

Options :

68634078577. 1
68634078578. 2
68634078579. 3
68634078580. 4

Question Number : 45 Question Id : 68634019892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JRYad: A S SadcH Ciedle SEdl & 96 Tl J960® ¢ | 98 99 3 99 a9dT 6|
1. NADA SIS Gi-g

. ATP f¥Ug

 HaHT-e fSgreiei-g
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Options :

[
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68634078577. 1
68634078578. 2
68634078579. 3
68634078580. 4

Question Number : 46 Question Id : 68634019893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Mass-to-Charge or m/z ratio can be measured through

1. Gas chromatography

(B

. UV=vis spectrophotometer
3. Fluorescence spectrophotometer
4. Mass spectrophotometer

Options :

68634078581. 1
68634078582. 2
68634078583. 3
68634078584. 4

Question Number : 46 Question Id : 68634019893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR Y AR HYTT m/z UG A9 8 §RT a1 S g |
1. T P!
2. UV - VIS W BIeHiex
3. Wi WagipieHieR
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Options :

68634078581. 1
68634078582. 2
68634078583. 3
68634078584. 4

Question Number : 47 Question Id : 68634019894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following organelle is pelleted first during sub-cellular fractionation by differential
centrifugation at 1000 g for 10 minutes

1. Nuclei

2. Mitochondria

3. Lysosome

4. Endoplasmic reticulum
Options :
68634078585. 1
68634078586. 2

68634078587. 3
68634078588. 4

Question Number : 47 Question Id : 68634019894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST RTE T IRFRA GRT 1000g TR 10 {72 T 907 R 963 Ugd &1 91 SIS G 9ed 94 Juf
Held EﬁTﬂ:

1. BIgHI

2. AEoIdl

3. AEEEH

4. TSIEide Ycagan
Options :
68634078585. 1
68634078586. 2

68634078587. 3
68634078588. 4

Question Number : 48 Question Id : 68634019895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Another name for cardio lipin is

—

. Phosphatidyl choline

b2

. Phosphatidyl serine

L¥ 5]

. Phosphatidyl inositol

=

. Diphosphatidyl glycerol



Options :

68634078589. 1
68634078590. 2
68634078591. 3
68634078592. 4

Question Number : 48 Question Id : 68634019895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078589. 1
68634078590. 2
68634078591. 3
68634078592. 4

Question Number : 49 Question Id : 68634019896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which compound in red cells is crucial in determining the oxygen affinity of haemoglobin ?

1. Inositol triphosphate

[ )

. Glyceraldehyde-3-phosphate
3. 2. 3- Bisphosphoglycerate
4. Phosphatidy! inositol

Options :

68634078593. 1
68634078594. 2
68634078595. 3
68634078596. 4

Question Number : 49 Question Id : 68634019896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ATd T DI | fRHreias Bt siffatiion d¢= g 9 gard gr Fufa giar g -
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Options :

68634078593. 1

68634078594. 2

68634078595. 3
68634078596. 4

| )

=

Question Number : 50 Question Id : 68634019897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Proteins can be separated electrophoretically on the basis of net acidic and basic charge through

1. Isoelectric focusing

b2

. Dafferential centrifugation
3. Countercurrent immunoelectrophoresis
4. Pulse field gel electrophoresis

Options :

68634078597. 1

68634078598. 2

68634078599. 3
68634078600. 4

Question Number : 50 Question Id : 68634019897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UIeH DI SaagiBIRCHa g sl &R SH1aRE YR TR FH gRT YYs 641 oiidl gedi gl

1. gafdyd Bidaq
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Options :
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68634078597. 1
68634078598. 2
68634078599. 3
68634078600. 4

Question Number : 51 Question Id : 68634019898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Molarity 1s defined as

1. No. of moles of solute in 1 liter of solution

b
2
o

. of moles of solute in 1 kg of solvent
3. No. of moles of solvent in 1 kg of solute

4. No. of moles of salt in 1 liter of solvent

Options :

68634078601. 1
68634078602. 2
68634078603. 3
68634078604. 4

Question Number : 51 Question Id : 68634019898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ol 1 4 =g ¥ aRuiftd fear s s -
1, 1 Tifex °iel # faeia & Aieil &1 He
1 Toretl fawimaes # facig & Aial @t g
1 Toatl facig # faaae & Aiei &t dwe
4. 1 iiex faarae § Tqur &1 did T

Options :

68634078601. 1
68634078602. 2
68634078603. 3
68634078604. 4

| )

L]

Question Number : 52 Question Id : 68634019899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synthesis of 2.3-bisphosphoglycerate increases in high altitude because:

1. 2.3-bisphosphoglycerate favours the relaxed state of haemogobin

| B

. 2.3-bisphosphoglycerate serves as an energy source at high altitudes

LIPS ]

. 2.3-bisphosphoglycerate stabilizes the T-conformation of haemoglobin. thereby decreasing the oxygen
affinity of haemoglobin, making it more available to the peripheral tissues.

4. 2.3-bisphosphoglycerate regulates body temperature
Options :
68634078605. 1
68634078606. 2

68634078607. 3
68634078608. 4

Question Number : 52 Question Id : 68634019899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S A1 H 2. 3 - [APRBITAg e &1 GRYUl (9 SR J §¢ odl 6 -
1. 2.3- SO RBITAEIRE REFAEE B SR TR H1 60D o
2. 23w rREpTas e 3= &3 § 3ol 9id &1 $TH $3dl &

3. 2.3 [AOwIaEITEaETRe ffarddE & -0 &1 W sl oray faiarEE & Ao Thiie
& il & TUT T8 9183 Sad! &f =T I firem sean

4. 23 POEIaETYE IR agaH Fame & EUH S Hdr gl

Options :

68634078605. 1
68634078606. 2
68634078607. 3
68634078608. 4

Question Number : 53 Question Id : 68634019900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The drug sildenafil (Viagra) works by:

1. Relaxation of smooth muscles and vasodilation by activating geranylyl eyclase

[ )

. Contraction of smooth muscles and vasodilation by activating adenylyl cyclase
3. Relaxation of smooth muscles and vasodilation by inhibiting cGMP phosphodiesterase

4. Contraction of smooth muscles and vasoconstriction by activating cGMP phosphodiesterase



Options :

68634078609. 1
68634078610. 2
68634078611. 3
68634078612. 4

Question Number : 53 Question Id : 68634019900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RraeTtea (f[garn) A 91 F9 UhR S $Ia1 6 -
1. =it Ul 1 fYrue 9uT Tad vaTe 9e eRIaSd 9heay & I iaE gRI
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4. T+ U=l 1 Hara qUT o HaTg a8 cGMP BB IS & T@ 49 gRI

Options :

68634078609. 1
68634078610. 2
68634078611. 3
68634078612. 4

Question Number : 54 Question Id : 68634019901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In the pump Na ™ - K" ATPase during active transport. hydrolysis of ATP provides energy for:

1. 4 mole of Na™ out of cell and 4 mole of K7 into cell

| )

. 1 mole of Na™ out of cell and 1 mole of K7 into cell
3. 3 mole of Na™ out of cell and 2 mole of K into cell

4. 2 mole of Na™ into the cell and 3 mole of K™ out of cell

Options :

68634078613. 1
68634078614. 2
68634078615. 3
68634078616. 4

Question Number : 54 Question Id : 68634019901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078613. 1
68634078614. 2
68634078615. 3
68634078616. 4

Question Number : 55 Question Id : 68634019902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Inspiratory Capacity (IC) can be calculated as

1. Tidal Volume (TV) + Inspiratory Reserve Volume (IRV)

| )

. Tidal Volume (TV) + Expiratory Reserve Volume (ERV)
3. Tidal Volume (TV) - Inspiratory Reserve Volume (IRV)
4. Expiratory Reserve Volume (ERV) - Inspiratory Reserve Volume (IRV)
Options :
68634078617. 1
68634078618. 2

68634078619. 3
68634078620. 4

Question Number : 55 Question Id : 68634019902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 T &l (1C) | GRT AT St §
1. SARIT 3 (TV) + 3id: Y8 QRI&d 319 (IRV)
2. SARIT YA (TV) + 49 RI&T 3 (ERV)
3. SO G (TV) - 30d: 48 GRI&d Sad (IRV)
4, 949 TRIET STGT (ERV - 3dl: %5 TRIET 3TETH (IRV)

Options :



68634078617. 1
68634078618. 2
68634078619. 3
68634078620. 4

Question Number : 56 Question Id : 68634019903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In E.coli lac operon. the lac repressor binds to the operator region i1 the absence of lactose.

1. Very weakly

[ B

. Very strongly
3. Not binds

4. None of the above

Options :

68634078621. 1
68634078622.2
68634078623. 3
68634078624. 4

Question Number : 56 Question Id : 68634019903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
E.coli 0% RMA T 0 R A Bl ofufRfdd . TR &a A gsd gl
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Options :

68634078621. 1
68634078622. 2
68634078623. 3
68634078624. 4

Question Number : 57 Question Id : 68634019904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One of the major drawback of transgenic plants/crops is

1. They are often observed to be less productive

| B

. They are more prone for diseases

LF¥]

. They may indulge in unwanted horizontal spread of transgene
4. They often produce poor quality of seeds

Options :

68634078625. 1
68634078626. 2
68634078627. 3
68634078628. 4

Question Number : 57 Question Id : 68634019904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URGid! Ul / Bl @) 5= Sl §
1. Y 4 BH IR B §
9 3{f¥P IMATE 8Id B
9 SO &faS URSI RYRor § Qi gid 8
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Options :

68634078625. 1
68634078626. 2
68634078627. 3
68634078628. 4

| ]

L

Question Number : 58 Question Id : 68634019905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The protein synthesis process in prokaryotes is unique because, m them:

1. Transcription is not followed by Translation

| )

. Translation 1s followed by Transcription
3. Transcription is coupled with translation
4. Either transcription or translation - only one process takes place

Options :
68634078629. 1



68634078630. 2
68634078631. 3
68634078632. 4

Question Number : 58 Question Id : 68634019905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078629. 1
68634078630. 2
68634078631. 3
68634078632. 4

Question Number : 59 Question Id : 68634019906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the biocatalyst among the given four examples:

1. Lysosome
2. Ribozyme
3. Chromosome
4. Golgi Vesicle

Options :

68634078633. 1

68634078634. 2

68634078635. 3
68634078636. 4

Question Number : 59 Question Id : 68634019906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634078633. 1
68634078634. 2

68634078635. 3
68634078636. 4

| )

L

Question Number : 60 Question Id : 68634019907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Ramachandran Plot. the angle of rotation lies between:

1. - 120° to + 180 degrees

| )

.- 180° to + 180 degrees
3. -90° to + 90 degrees
4. - 180° to + 120 degrees

Options :

68634078637. 1
68634078638. 2
68634078639. 3
68634078640. 4

Question Number : 60 Question Id : 68634019907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IEEA T1% H gHTd S0 R gar gl
1.-120° ¥+ 180 &4l
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3.-90° ¥+ 90 f&4i

4. -180° T+ 120 f&3

Options :
68634078637. 1



68634078638. 2
68634078639. 3
68634078640. 4

Question Number : 61 Question Id : 68634019908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The following chemical compound is used in gene transfer using physical delivery methods:
1. Paradichlorobenzene
2. Polyethylene glycol
3. Chloramphenicol
4. Colchicine

Options :

68634078641. 1
68634078642. 2
68634078643. 3
68634078644. 4

Question Number : 61 Question Id : 68634019908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078641. 1
68634078642. 2
68634078643. 3
68634078644. 4

L]

Question Number : 62 Question Id : 68634019909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



During cell division protein degradation (proteolysis) is facilitated by:

1. Amino acyl synthetase pathway

2

. Restriction endonuclease pathway

LFS]

. ATPase pathway

=y

. Ubiquitin pathway

Options :

68634078645. 1
68634078646. 2
68634078647. 3
68634078648. 4

Question Number : 62 Question Id : 68634019909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIf1 faueH & eRE didH faueq (wifearanmi Fg gr1 wienfed fear snar g |
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Options :

68634078645. 1
68634078646. 2
68634078647. 3
68634078648. 4

Question Number : 63 Question Id : 68634019910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Sanger's DNA sequencing. for chaimn termination of replication 1s used.
1. 5' - methyleytosine

[ )

. 2", 3' -dideoxy analog
3.2, 3' - deoxy analog
4.2, 3' - cyclic cAMP

Options :
68634078649. 1



68634078650. 2
68634078651. 3
68634078652. 4

Question Number : 63 Question Id : 68634019910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7 DNA a0 XUeiih e § =4 dres § 9 o1 v o o -
1. 5-TygaEEeIRE
2", 3-SAS TR YHEY (TAERT)

[ ]

4.2, 3 OOG0IH cAMP

Options :

68634078649. 1
68634078650. 2
68634078651. 3
68634078652. 4

Question Number : 64 Question Id : 68634019911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The commonly used antibiotic "Erythromyein" is produced by:

1. Bacillus licheniformis
2. Streptomyces erythreus
3. Pencillium chrysogenum
4. Streptomyces antibioticus

Options :

68634078653. 1

68634078654. 2

68634078655. 3
68634078656. 4

Question Number : 64 Question Id : 68634019911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634078653. 1

68634078654. 2

68634078655. 3
68634078656. 4
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Question Number : 65 Question Id : 68634019912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In nucleosome model. the dsDNA is wound on which molecular structure to give organisation to DNA into
chromatin

1. H1 molecule

[ ]

. Histone protein Octamer

L¥%]

. Nuclear membrane
4. Lysosomes

Options :

68634078657. 1
68634078658. 2
68634078659. 3
68634078660. 4

Question Number : 65 Question Id : 68634019912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AlFqaI= Hisd U dsDNA HH 31Uge H3a-1 UR [efUeer DNA $IHifcs &l == ddl g

1. Hi 3{7]
feeH UidiA snaemR
- fereraR fereed!

4. AIOEEH

[ ]

L]



Options :

68634078657. 1
68634078658. 2
68634078659. 3
68634078660. 4

Question Number : 66 Question Id : 68634019913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The second law of thermodynamics states that the total entropy of a system plus that of its
surroundings always increases.

Reason R: The release of water from nonpolar surfaces responsible for the hydrophobic effect is favourable
because water molecules free in solution are more disordered than they are when they are associated with
nonpolar surfaces.

In the light of above. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

[ ]

. Both A and R correct but R is not the correct explanation of A
3. A1s correct but R 1s mcorrect

4. A is correct but R is incorrect

Options :

68634078661. 1
68634078662. 2
68634078663. 3
68634078664. 4

Question Number : 66 Question Id : 68634019913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁ%aﬁﬂl:rﬁqw% : W\’dﬁﬁ?ﬂq[ﬂsseﬂionﬂ}ﬁm ﬁﬁ!@ﬁ%?ﬁmmm(lieamn?.)a’f
U,

HfwUT A: ydfsmTie & fidy fFromaer & o 9f terft eeg sgd R e ®

BRI R: YA Fqg I T Bl a1 ofd [aRIe URa=U SBRIAD [$ha1 3 Fifds oat o (0] °9ied 4
SIE] SOIaReyd 31 5. SYdid 9ag I §¢f g3 SR &1 go o

Sued S o HIdld 1, [GU T fdbedi I I U5l STk &l 98- BT
1. A SR R &HI 961 € SR R A T W81 ARE §

b2

A SRR GHI W8l § IR R. A D! UE! oOre a1 §
AFSIEABTR TR S
AT TR g afrT RIS

Options :

68634078661. 1
68634078662. 2
68634078663. 3
68634078664. 4

L]
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Question Number : 67 Question Id : 68634019914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Subtrates are bound to enzymes by multiple weak attraction. The noncovalent interaction in ES

complex are much weaker than covalent bond, which have energies between - 210 and - 460 kj mol ™.,

Reason R: The mechanism of catalysis 1s dynamic. involving structural changes with multiple intermediates
of both reactants and enzymes.

In the light of above. choose the correct answer from the options given below:
1. Both A and R are correct and R is the correct explanation of A

2. Both A and R correct but R is not the correct explanation of A

3. A is correct but R is incorrect

4. A is correct but R is incorrect

Options :

68634078665. 1
68634078666. 2
68634078667. 3



68634078668. 4

Question Number : 67 Question Id : 68634019914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬂﬁmmm% : WMW[ASSW&DHA}%W ﬁﬁ!@ﬁ%?ﬁWGﬁW(ReasonR)a’f
94,

@Y A: TrTYR T5H 9 §5d 4 &1 Syl gR1 99T 51aT § | ES 9Hg § AHdidade a¢, Hidae
S BT T H BIPT ARSIl o] ot - 210 F - 460 kI mol™! BIH B

HRUTR: SR 31 frarfafyr afea et & forad fuwde qur tes & 989 I Heaad! U §d & qut
TRETHS Faad HA1d & |

Sudad B & A 1, fAU 7T fadhedi T 1 951 IR &1 997 o

A 3R R AT T8 € 3R R, A B T61 AR B

—

b2

A SRR GHI W8l § IR R. A D! UE! oOre a1 §
ATSIEAPTR TR ST ®
4 AT TR g iR TG ©

Options :

68634078665. 1
68634078666. 2
68634078667. 3
68634078668. 4

L¥ 5]

Question Number : 68 Question Id : 68634019915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Nerve impulses are communicated across synapses by small, diffusible molecules called
neurotransmitters. Acetylcholine receptor 1s best understood ligand-gated channel. Acetylcholine opens a

single kind of cation channel called acetylcholine receptor, which is almost equally permeable to Na™ and K.

. . - . p KN = M -
Reason R: P-type ATPases, which include the sarcoplasmic reticulum Ca“” ATPase and Na™ - K™ ATPase. are
integral membrane proteins with conserved structures and catalytic mechanisms.

In the light of above, choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R true but R is not the correct explanation of A
3. A s true but R 1s false

4, A is false but R is true

Options :

68634078669. 1
68634078670. 2
68634078671. 3
68634078672. 4

Question Number : 68 Question Id : 68634019915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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teTad FIAE- A6 Fed & aUT T8 Na™ d K 8q U 99 TR B

BRI R: P- TSY ATP U [ordh TIeh Iied I g erd ATP UF GY1 Na~ - K~ ATP UH SfHIfed § T
IRGET g1 U8 IoRE oranfafy arar gufed el uieH 81

SUdad B & HAD 1. fAU 7T fadhedi T I W51 IR &1 98- DI
1. A SIR R &1 981 § SR R. A ] el AT §

A SRR TEI§ SRR AT U Arem 7T &
AGSIEAPTIR TS
4 AT I AP TR TS
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Options :
68634078669. 1



68634078670. 2
68634078671. 3
68634078672. 4

Question Number : 69 Question Id : 68634019916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements. One is labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: Enzyme sucrase will not bind and act on other disaccharides such as maltose.
Reason R: Due to enzyme specific functionality enzyme sucrase act only on sucrose.
In the light of above. choose the correct answer from the options given below:
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R true but R is not the correct explanation of A
3. A s true but R 1s false
4. A s false but R is true
Options :
68634078673. 1
68634078674. 2

68634078675. 3
68634078676. 4

Question Number : 69 Question Id : 68634019916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRIFuERTmE:
HYT I TTIgH YOd 3 SEaaRISSd oY AIee 4 76l gadr g |
B 11: TIgH TR [ARTE PERIE & SR Yh<d T HRIs R B DR g
Sued S o HIdld 1, [GU T fdbedi I I U5l STk &l 98- BT
1. FY 1 AR 11 G 9 &

2 YT AR GHT 3 EA S
3. FYT T 8. AfeT FUT 11 HTT

4. YT A . AfpT YT I T &

Options :
68634078673. 1



68634078674. 2
68634078675. 3
68634078676. 4

Question Number : 70 Question Id : 68634019917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. One 1s labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The number of Adenine bases in a DNA molecule is always equal to Thymine bases.

Reason R: As per Chargaff's principle. in a given DNA molecule the proportion of purines and pyrimidines is
always equal.

In the light of above, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2

. Both A and R true but R is not the correct explanation of A
3. A is true but R 1s false
4, A is false but R 1is true

Options :

68634078677. 1

68634078678. 2

68634078679. 3
68634078680. 4

Question Number : 70 Question Id : 68634019917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U I: DNA AU H TS 0] & TRed] 94a Y- &R & sRIER gl g

@‘eﬁglz IR G & SR bl [3U 78 DNA 0] = a1 yrRiiEsi= &1 SHu1d e 99
Bldl 6|
Suad Sl o D 4, [4U T fdhedi I I U5l STR &l 98- BT

1. PYT1 AR 11 ST I &

2. YT AR SHT 3T &
3. YT I T B, AfeT FUT I HTT

4. DY 3T 8. AfpT PYT I TT ©



Options :

68634078677. 1
68634078678. 2
68634078679. 3
68634078680. 4

Question Number : 71 Question Id : 68634019918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: In yeast, a single Cdk (Cyclin dependent Kinases) viz. Cdk1 controls the cell cycle progression.

Reason R: In mammalian cells. mmimum two or in special situation more than two Cdks control the cell
progression.

In the light of above. choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R true but R 1s not the correct explanation of A
3. A is true but R 1s false

4. A is false but R is true

Options :

68634078681. 1
68634078682. 2
68634078683. 3
68634078684. 4

Question Number : 71 Question Id : 68634019918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Suad Sl o D 4, [4U T fdhedi I I U5l STR &l 98- BT
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Options :

68634078681. 1
68634078682. 2
68634078683. 3
68634078684. 4

b2
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Question Number : 72 Question Id : 68634019919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Plants raised in-vitro. through tissue culture technique often exhibit morphological and genetic
variations.

Reason R: Plant genetic fidelity often gets impacted by somaclonal variations.
In the light of above, choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

-2

. Both A and R true but R is not the correct explanation of A
3. A is true but R 1s false

4. A is false but R is true

Options :

68634078685. 1
68634078686. 2
68634078687. 3
68634078688. 4



Question Number : 72 Question Id : 68634019919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁﬁwmﬂt{% : WWW[RSS&'&DHA}%W ﬁﬁ!@ﬁ%?ﬁﬁﬂ@%@ﬂieasonR)%
E0d .
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SR fafded gafdr g

BRUI R: UGy HdiiRIe (HFraricaar Smmad: SHTa=d [dfdear g1 uuifad gicdl ¢
Suded HYH & HAd 1, [4U T fddedi I 1 U5l STR & 997 o
1. A R R M 961 & SR R. A D el IR 3

2

A SRR S el € 3R R, A &1 Uet aaremr gl &
AFSIEAETR SIS
4 AT IR AfFTR TS ®

Options :

68634078685. 1
68634078686. 2
68634078687. 3
68634078688. 4
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Question Number : 73 Question Id : 68634019920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following events occuring in a JAK/STAT signaling pathway in the correct sequence:

A. Phosphorylation of Tyr residues on receptor by JAK

B. Binding of ligand to receptor

C. Dimerisation of receptor

D. Binding of STAT to phosphorylated Tyr and phosphorylation of STAT by JAK

E. Dimerisation of phosphorylated STAT followed by translocation of STAT dimer to nucleus to modulate
gene-exXpression.

Choose the correct answer from the options given below:
LGB A I E
2B G A DE
3 BACED

1 AB.C.D.E



Options :

68634078689. 1
68634078690. 2
68634078691. 3
68634078692. 4

Question Number : 73 Question Id : 68634019920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JAK / STAT Faau &8 © g vearsii & 9el e § =99+ maiford &9 -

A. Tyr @29 @1 JAK U6l TR PRORIGLH

B. ferile o1 RUpR iR &eH

C. RUYe &1 STEREWYH (fgam )

D. BB RACS Tyr ®1 STAT I a8 dUl STAT DI JAK GRI BRD REA

E. BREBRIYTUCS STAT P [g@B Ul ddyld STAT SIHR &l Sadh U YRITYA [orad SilF sfityoidkd

TSl fhar o ¥
i AU Y fdeedl O U 998 U ST &1 99 BIfuIg:

1.€. B A DE

2:8.C.ADE
3B A E, D
4.A.B.C,D.E

Options :

68634078689. 1
68634078690. 2
68634078691. 3
68634078692. 4

Question Number : 74 Question Id : 68634019921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Proteins destined to be secreted. move through the secretory pathway in which of the following order

A, Cell surface
B. Rough endoplasmic reticulum
C. Secretary vesicle
D. Transport vesicle
E. Golgi complex
Choose the correct answer from the options given below:
1.LA,B,C,D.E
2ZAB.D CE
3E.B.C, DA
4.B.D,E.C.A

Options :

68634078693. 1
68634078694. 2
68634078695. 3
68634078696. 4

Question Number : 74 Question Id : 68634019921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ardt Uit arf ¥ fsu sn dwfaa siar e
A. FIfHT g
B. W&l USTwinidTe I iagad
C. |rdl adled
D. alfgd! adidd
E. A SHiciay
i fau U fae el ¥ O 98 U SR 1 99 BIfuIU:

1.LA,B,C,D.,E

2.A.B.D.C.E
3.E.B.C, DA
4. B.D,E.C.A

Options :

68634078693. 1
68634078694. 2
68634078695. 3
68634078696. 4



Question Number : 75 Question Id : 68634019922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the enzymes in sequence on the basis of their involvement in citric acid eycle.

A. Aconitase

B. Isocitrate dehydrogenase
C. Fumarase

D. Malate-dehydrogenase
E. Succinate dehydrogenase

Choose the correct answer from the options given below:
1LABCBDE
2ED CAB
33ABECD
4.D.C,B.A.E

Options :

68634078697. 1
68634078698. 2
68634078699. 3
68634078700. 4

Question Number : 75 Question Id : 68634019922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qrafce 3k dsb © WANT U=SII5H & ol hH DI 90+ D

i fau U fde el O O 98 U IR 1 99 HIfIU:
1.A,B.C.D.E
2.E,D,C,A,B
3.A.B.E.C.D
4.D,C,B,A.E
Options :
68634078697. 1

68634078698. 2
68634078699. 3



68634078700. 4

Question Number : 76 Question Id : 68634019923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Write the correct sequence of intermediates formed during Pentose Phosphate pathway.

A. 6-phosphogluconate

B. Ribose-5-phosphate

C. Sedoheptulose-7-phosphate
D. Glucose-6-phosphate

E. Ribulose-5-phosphate

Choose the correct answer from the options given below:

1.B,C.D,E,A

| )

A.D,B.E.C
3.JAB.C.D.E
4.D,A.B.E,C

Options :

68634078701. 1
68634078702. 2
68634078703. 3
68634078704. 4

Question Number : 76 Question Id : 68634019923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UeTE BIhE HF H & a1 SHIdRad 9eel &l 98- Bifory

A. 6-BTERIIDH T
B. VEdY-5-FRp
c. ISR dld-7-bRhe
D. P H-6-BEHC
E. Rgdiy-5-B R

14 feu T oo ol O § a9 I9ged SR &1 999 HifolL;
1.B,C.D.E.A
2.A.D.B.E.C
3.A.B.C.D.E
4.D,A.B.E.C

Options :



68634078701. 1
68634078702. 2
68634078703. 3
68634078704. 4

Question Number : 77 Question Id : 68634019924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in the increasing order in which they are excreted in a normal healthy individual

A Urea

B. Glucose
C. Sodium
D. Water

Choose the correct answer trom the options given below:
1.D.A,C.B
2.B.C, DA
3 B:C.4D
4.B.A.C.D

Options :

68634078705. 1
68634078706. 2
68634078707. 3
68634078708. 4

Question Number : 77 Question Id : 68634019924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
19 @1 U H O a0fdd 5 9 39 Hhre- & $H O Ao Sifrg -
A g
B. T
c. dilgay
D. S
i AU Y fdeedl O U 998 U ST &1 99 BIfuIg:

1.D.A.C.B

| ]

.B,C.D.A

3.B.C.A.D

4.8;A,€,D



Options :

68634078705. 1
68634078706. 2
68634078707. 3
68634078708. 4

Question Number : 78 Question Id : 68634019925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in increasing order of their diameter:

A HDL

B. VLDL

C. Chylomicron
D.LDL

Choose the correct answer from the options given below:

1.LA.D.B.C

| B)

.D.A.C.B
3.A.B,C,D
4. A B, D, C

Options :

68634078709. 1
68634078710. 2
68634078711. 3
68634078712. 4

Question Number : 78 Question Id : 68634019925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FH I 395 AN & dgd HH A

A. HDL
B. VLDL

C. BIOAEIDA
D.LDL

19 f3u Tt fasedi § 9 &l IUged SR &1 999 DifoIg:

1.A. D B,C

b2

.D.A.C.B

33A.B.C,D

4. A. B, D, C



Options :

68634078709. 1
68634078710. 2
68634078711. 3
68634078712. 4

Question Number : 79 Question Id : 68634019926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following events responsible for colon cancer in the correct order in which they occur.

A The benign adenoma progresses to a malignant adenoma.

B. A single mutated cell starts to proliferate abnormally, giving rise to a proliferative cell population.

C. The cancer cells invade the underlying connective tissue and penetrate the blood and lymphatic vessels.
thereby spreading throughout the body.

D. Additional mutations follow. leading to subsequent formation of an adenoma.

Choose the correct answer from the options given below:

1.B. DA C

b2

B, D,C A
3.CCA.D.B
4 B.A.D.C

Options :

68634078713. 1
68634078714. 2
68634078715.3
68634078716. 4

Question Number : 79 Question Id : 68634019926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A. SIS TSH-aT @1 AferHe T o gaan
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TRRH

D. Jfafvad Iafady giee dayra vsitar &1 faser

19 f3u Tt fasedl § 4 &l I9ged SR &1 999 DifIu:

1.B,D,A,C
2.B. DA
3.CCA.D.B
4.B.ADC

Options :

68634078713. 1
68634078714. 2
68634078715. 3
68634078716. 4

Question Number : 80 Question Id : 68634019927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: "The chemiosmotic model suggests that the energy stored in eletrochemical gradient due to
difference in proton concentration and the separation of charge across the inner mitochondrial membrane -
drives the synthesis of ATP as protons move passively back into the matrix through a pore in ATP synthase."

Statement IT: Inhibition of electron movement to oxygen will block ATP synthesis.
In the light of above statements. choose the most appropriate answer from the options given below:
1. Both Statement [ and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is mcorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634078717. 1
68634078718. 2

68634078719. 3
68634078720. 4



Question Number : 80 Question Id : 68634019927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%‘cﬂ$ﬂ:{ﬁ“qm{%' : Qﬁmiﬁ(ﬁsseﬂir::llfi}%Fq ﬁﬁ!ﬁﬂ%?ﬁﬁﬂﬁﬁ@ﬂieasonR)%
0,

fHYE A: FHTEICE disd quidl ¢ [F saReRumie yaur & YeilRd i ol gielH Jigdr d
SR YT SATARD AT e UR 1A% &1 4T §H1. ATP LNl &1 Haledhdi ¢ oid Hici-
Woe Y Y amay ATP U & fosl R Afeeg 9@ amd 21

BRI R: GG B 3R Tiag = HaTe H 14T, ATP YLy &I I g
Sudad B & HAE 1, f4U T faPhedi T 1 951 IR &1 98- Do

1. A 3R R 3FI T8 € R R. A Tel AR &

A SRR EI € IR R AT U arem gl
AFSIEAPTIR TS
AT TS AP RIS E

Options :

68634078717. 1
68634078718. 2
68634078719. 3
68634078720. 4
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s

Question Number : 81 Question Id : 68634019928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: A pregnant woman has a higher requirement of folic acid.

Statement IT: Folic acid regulates glucose levels in the growing fetus and maintains carbohydrate metabolism.

In the light of above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :
68634078721. 1



68634078722. 2
68634078723. 3
68634078724. 4

Question Number : 81 Question Id : 68634019928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 I DU RU MU T : UD SHMNHYT (Assertion A) P U T [ § d GO 3P PRI (Reason R) &
UL

firmyT A TR Afgar § wifds o & savgsdl 9¢ 9 o
BRUR: BIICTH 3T g6 Y01 H B B TR Bl (001 qUT SEerSe ST $ a0 Hdl ¢
Suded By & A 1, [4U 7T fdPedi I 9 U5l ITR & 997 B o

1. A 3R R I 961 & SRR, A DI el RS 5

2. A SRR 3HI T & IR R, A B el A el 8
3. ATE e Al R S el ©
4 AT IR AfF TR TS

Options :

68634078721. 1
68634078722. 2
68634078723. 3
68634078724. 4

Question Number : 82 Question Id : 68634019929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Vegetarians are more prone towards iron-deficiency anaemia.

Statement II: Vegetarian foods typically contain certain substances which inhibit iron absorption in the body.

In the light of above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| B

. Both Statement I and Statement II are incorrect

3. Statement I 1s correct but Statement II is incorrect

4. Statement [ 1s incorrect but Statement II 1s correct



Options :

68634078725. 1
68634078726. 2
68634078727. 3
68634078728. 4

Question Number : 82 Question Id : 68634019929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬂﬁwﬁqm% : WWW[ASSW&DHA}%W ﬁ%@ﬁ%ﬁ@ﬂﬁﬁW(ReamnR}%
94,

DU A: AMBTER], TE PH! aTell THTHT & Ul 24fes Fddi §id B
HRUI R: MHERI T § $B WY Ied [N &0 J dig AN & aed a9d &
Suad Sl o D 4, [4U T fdhedi I I U5l STR &l 98- BT
1. A SR R 3 961 € SR R. A S el AR ©
A SRR &I T8l & SIRR. A DI Ue! ARAT 761 §
AT AT R TSR
AT eI g iR el §

Options :

68634078725. 1
68634078726. 2
68634078727. 3
68634078728. 4

[
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Question Number : 83 Question Id : 68634019930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In transgenic plants developed by prokaryotic expression systems, the expression of transgene is
very high.

Statement IT: Eukaryotic protein expression system 1s of limited use as the expression is very low mn
transgenic organisms.

In the light of above statements, choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement [ i3 incorrect but Statement II 1s correct

Options :

68634078729. 1
68634078730. 2
68634078731. 3
68634078732. 4

Question Number : 83 Question Id : 68634019930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR syafiumue.

®YA I IRoid! g1yl H {51 [aw Hidralices 7 gR1 oM 1 d IRl 38 & §gd 9o X R
TERid B €|

B 11: gHAIE UIeH UHRH 4 &1, YRSl 1, $H e/ TauRH & ged Siiid ST gl gl
Sudad B & HAE 1, f4U T faPhedi T 1 951 IR &1 98- Do
1. PUTI AR SHI G &

e

o1 SR 1 AN e E

3. YT I 9 ¢, Afded YT 11 T &

4. FUTIHTT T, AP T HYT I TT &

Options :

68634078729. 1
68634078730. 2
68634078731.3
68634078732. 4



Question Number : 84 Question Id : 68634019931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I:Cancer cells have to rely on glycolysis for their energy requirements.

Statement IT: 2-deoxyglucose has shown potential as a chemotherapeutic agent.

In the light of above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement [ is false but Statement II is true
Options :
68634078733. 1
68634078734. 2

68634078735. 3
68634078736. 4

Question Number : 84 Question Id : 68634019931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RSPy Ryme .
BYT [ HIR DI Y] FHoll SHaGHAT 5 TASHarerd o= U Hal 5|
HY I1: 2- SIS ™ A U JuTdl fbHiRUfcs ges & &9 U ygaH &g o |
SUed Sl o HellD 4. [4U T fdehedi T 4 U5l STR &l 98- BT
1. PY1 AR 11 3 I &

2 BYFI AR SHI A S
3. FYTI TR, AT U I 3T &

4, PYTI 3T 8. AT YT I T ©

Options :

68634078733. 1
68634078734. 2
68634078735. 3
68634078736. 4



Question Number : 85 Question Id : 68634019932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Atherosclerosis can be caused due to HDL-cholesterol accumulation.

Statement IT: Statins inhibit cholesterol biosynthesis.

In the light of above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT 1s true
Options :
68634078737. 1
68634078738. 2

68634078739. 3
68634078740. 4

Question Number : 85 Question Id : 68634019932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%fa*laﬂl:rﬁqm%:
®YF I HDL- ST UHA ¥ TIRIEH RIS Sidl |

B 11: Wfed FIoTe g TRay § 919 2
Sudad HUAl & HTdid 1, 30 Y fddedi T 1 T8l TR &1 997 Hifeld;
1. B IR 11 HI T &
2. BUT L AR I ST AT
3. DY 19 &, Al PYF I 39 ©
4. BY 1 HTA 8. A YT TA §
Options :
68634078737. 1
68634078738. 2

68634078739. 3
68634078740. 4



Question Number : 86 Question Id : 68634019933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Hormones act through specific high affinity cellular receptors.

Statement II: Steroid hormones pass through the plasma membrane of their target cells and bind to their
receptors in the nucleus.

In the light of above statements, choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false

4. Statement I 15 false but Statement 11 1s true
Options :
68634078741. 1
68634078742. 2

68634078743. 3
68634078744. 4

Question Number : 86 Question Id : 68634019933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR P RTME:
HY I: S [afy IR I181 & W ¥ PR a1 6 |
HUF I1: WRITS G U TRITC BIS] 31 @A f21eei! B IR $R bed 8 30 Ael P gad g |
Sudad B & HAE 1, fAU T fadhedi § 1 951 IR & 98- Do
1. FY 1 IR 11 GHI T &
2. BYT1 IR 11 ST A T
3. Y19 §. Al PYT I 39 &
4, Y1 3EY B Alce HUT 11 A &
Options :
68634078741. 1
68634078742. 2

68634078743. 3
68634078744. 4



Question Number : 87 Question Id : 68634019934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements from those given below:

A. A balanced diet contains carbohydrates. protems. fats. minerals. vitamin and some dietary fibre.
B. Deficiency of Vitamin E leads to pellagra.
C. Nutraceuticals are the substances present in food that can have specific pharmacological properties.

D. Patients suftering from phenylketonuria are advised to limit the consumption of phenylalanine in their
diet

Choose the correct answer from the options given below:

1.LA.B.C.D

[ ]

.B. C only
3.A.C.D only
4. A.B. C only

Options :

68634078745. 1
68634078746. 2
68634078747. 3
68634078748. 4

Question Number : 87 Question Id : 68634019934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{49 ¥ ¥ Hel YA D1 90 B -

A, Igfed HioH § Feiegdse. Ui, a9, @, [Geii= qui e dd g o |
B. faeTfi E & it ¥ damn g g

C. eIIfeoHd a8 Ued § ol HieH § JUleUd Sidx B Plicadd 01 [ad § |

D.Wﬁ%ﬁ?ﬂ.ﬁ%ﬁﬁﬂﬂﬂﬂﬁﬁ?ﬁ%ﬁ%ﬂﬁﬁ@%ﬂﬁﬁ%
19 f3u T fasedl ¥ 4 &l I9gad SR &1 99 Difolg:

1.PdTA,B.C.D

2. Had B, C

3. PAUA.C.D

4. BPAAA.B. C

Options :
68634078745. 1



68634078746. 2
68634078747. 3
68634078748. 4

Question Number : 88 Question Id : 68634019935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements:

A. Eukaryotes store energy as triacylglycerols in adipocytes

B. Transfer of phosphotidylethanolamine (PE) to the outer surface of a cell is a signal for programmed cell
death

C. Integral membrane proteins are attached firmly with the lipid bilayer and can be removed by using
detergents.

D. GPI anchored proteins preferentially are localized in the lipid rafts.

E. Plasma membrane of humans is rich in cardiolipin.

Choose the correct answer from the options given below:

1.A.B.C. D only

| )

.A. C.D only
3.3AB, C, D E

4. A, C.E only

Options :

68634078749. 1
68634078750. 2
68634078751. 3
68634078752. 4

Question Number : 88 Question Id : 68634019935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HYT BT ITT BN -

A. THCY Foll Bl TEERId & &0 F TSiiase § 9eud

B. DIHI & ded] Hdg W BRBICISASUIAUAA (PE) MR, WIS HIADI O] PT IS 8
c?ﬁ%ﬁﬂﬂmﬁ:{ﬁﬁﬁ% fGER W geadl U 9o ¥6d o aYl [Se¥eic & WaRT I $ienT foar o 9dd
D. GPI ¥ 3fed UIdI= wiuffe w9 g fafts wwe W gufRid gid €

E. A4 & @iieH Rieet Srefaifafty @ var it g

i AU Y fdeedl O U 998 U ST &1 99 BIfuIg:
1.FAAA. B.C.D
2. BAAA.C.D

3. %dTA.B.C.D.E

4. PAAA,.C.E

Options :

68634078749. 1
68634078750. 2
68634078751. 3
68634078752. 4

Question Number : 89 Question Id : 68634019936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements from those given below:

A. C5 convertase 1s formed from C5a and C5b convertase

B. C5 convertase 1s formed from C3b and C3 convertase

C. C3a and C3b are formed by C5 convertase

D. The membrane attack complex consist of C5b, C6. C7.C8 and C9
E. C5 convertase is formed from C3Sab

Choose the correct answer from the options given below:

1. B and E only

| )

. C and B only
3. Aand C only

4. B and D only

Options :

68634078753. 1
68634078754. 2
68634078755.3
68634078756. 4



Question Number : 89 Question Id : 68634019936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements from those given below:

A C5PHIacg C5a qUT Csb A &1 &

B. C5 Hded C3b dYI €3 Hacd Y &dl &

C. C3a TUT C3b &1 fAHT0 €5 HAdcg T giai e

D. [l 3iTepHe YHE CS5a. C6. C7.C8 AU CO Y adl §

E.C5 ®-acd C5ab d &7 ©
I fau 7Y fasedi O O 98 U ST &1 99 HIfoIg:
1. PIUB, A
2. Hau C, B
3. BAUA, C
4, Pad B, D

Options :

68634078753. 1
68634078754. 2
68634078755. 3
68634078756. 4

Question Number : 90 Question Id : 68634019937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following are important steps in plant tissue culture technique, which is used to multiply transgenic plants.

A. Acclimatization of hardened plants

B. Spray of msecticide

C. Surface sterilization of explant

D. Inoculation of explant on culture medium

Choose the correct answer from the options given below:

1.C.D. Aonly

[ ]

.B.C.D only
3.D.B. Aonly
4.C.A. B only

Options :

68634078757. 1
68634078758. 2



68634078759. 3
68634078760. 4

Question Number : 90 Question Id : 68634019937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(4 URGHH! urey g U SHae didy- fafd Fa g aeagul §
A. BTSs WYl & sgpa o
B. Bl fsda
C. UaHWIIC Bl el LrldgeieH
D. Sfai¥ qreay § UaHwiic o1 313

i fau U fae el § O 98 U TR 1 99 BIfwIU:
1. 94 C.D. A
2.%dd B.C.D
3.$had D.B. A

4. FAAC.A. B

Options :

68634078757. 1
68634078758. 2
68634078759. 3
68634078760. 4

Question Number : 91 Question Id : 68634019938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are types of ELISA ?
A. Competitive
B. Discontinous

C. Indirect
D. Sandwich

Choose the correct answer from the options given below:

LA BCD

| )

.A.B. Conly
3. A Donly
4. A.C.D only

Options :
68634078761. 1



68634078762. 2
68634078763. 3
68634078764. 4

Question Number : 91 Question Id : 68634019938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFHELISAT UPR § -

A prifefeq / ufagri
B. fegadiHem
C. SSMNaT
D. ¥gfdd
i< fau Y fae el O O 98 U ST &1 99 DI
1.FAAA. B.C.D
2. BAd A, B.C
3. BAd A, D

4. FAAA.C.D

Options :

68634078761. 1
68634078762. 2
68634078763. 3
68634078764. 4

Question Number : 92 Question Id : 68634019939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are types of eletrophoresis?
A. Competitive
B. Pulsed-field gel

C. Indirect
D. 2-Dimensional

Choose the correct answer from the options given below:

1.LAB.C.D

| )

.B.D only
3.A. C.D only
4.B.C.D only

Options :



68634078765. 1
68634078766. 2
68634078767. 3
68634078768. 4

Question Number : 92 Question Id : 68634019939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o SRR S PR §:
A. difefea / ufaart
B. U&-BIeS Widd
SZE-WH
A feu Tt fao el O § 9ad I9ged SR &1 99 BifoIg;
1.%dd A.B.C.D
2. Had B. D
3. HAUA.C.D

4. $GAB.C.D

Options :

68634078765. 1
68634078766. 2
68634078767. 3
68634078768. 4

Question Number : 93 Question Id : 68634019940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The termination of transcription process in prokaryotes is carried out by:
A. Rho (p) independent mechanism
B. Ubiquitin pathway

C. Rho (p) dependent mechanism
D. Dicer

Choose the correct answer from the options given below:

1. A. B and D only

[ ]

. C and B only
3. Aand C only

4. B and D only



Options :

68634078769. 1
68634078770. 2
68634078771. 3
68634078772. 4

Question Number : 93 Question Id : 68634019940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TigaTed | Tiferea 55 o1 Ia= 9 g farar oman &

A X (p) Wraadt fafe
B. g Iic q1yd

C. 3 (p) AR fpanfafy
D. SRR

i fGu g faedl H § WEl TR &1 98 ST
1.$ad A, B 3R D
2. %ad C 3R B
3. PAWAARC
4.%dd B 3R D

Options :

68634078769. 1
68634078770. 2
68634078771. 3
68634078772. 4

Question Number : 94 Question Id : 68634019941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

1ISTI LISTII
A }'I.aple S Une I. |Phenvlalanine hydroxvlase
Disease - ) -
B. |Phenylketonuria II. [Essential amino acid
i L Branched chain oc - keto acid
dehvdrogenase complex
D. [Valine IV, [Ketogenic amino acid

Choose the correct answer from the options given below:
1. A-ITT. B-IV. C-I1. D-1
2. A-I. B-II1. C-II. D-IV
3. A-II1. B-1. C-IV. D-II
4. A-TLL B-1. C-IV. D-III

Options :

68634078773. 1
68634078774. 2
68634078775. 3
68634078776. 4

Question Number : 94 Question Id : 68634019941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

gl 1 1 Yl 1 ¥ fieH sifore

T I Tt 11
Hud RRY A A | L [pAgeueiA gigsias
hed e g 11 [Esam ThE o
A I11. [JIRGTY $RGc Teth] Hicl 37 Slglgoloi-sl o
SRR V. [@ic] vifdd THH 3

frafarad fawel & I 96l IR &1 994 DI -

1. A-III, B-IV. C-1I. D-I

REE

|

AL B-III C-II. D-IV
3. A-IIT, B-1, C-IV. D-II
4. A-IL, B-1, C-IV, D-III

Options :

68634078773. 1
68634078774.2
68634078775. 3
68634078776. 4



Question Number : 95 Question Id : 68634019942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A legA I. |Pentamer
B. |IgE II. |Crosses Placenta
C. |leG I11. |Basophils
D. [lgM IV |Secretory component

Choose the correct answer from the options given below:

1. A-IV, B-III. C-II. D-I

| )

A-1, B-II., C-IV, D-III
3. A-IIT, B-IV. C-II. D-I
4. A-I. B-II, VC-III, D-IV

Options :

68634078777. 1
68634078778. 2
68634078779. 3
68634078780. 4

Question Number : 95 Question Id : 68634019942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LIST II
A [leA I [0l

B. [=E 1. [T & gRI ORI
C. =G 111 [ giitha

D. [leM V. [&1dl gedh

Y

19 f3u T fasedl § 9 el I9ged SR &1 989 Hifolu:

1. A-IV. B-III. C-II. D-I

| ]

cA-L B-IL C-IV, D-IIT
3. A-IIL, B-IV. C-II. D-I
4. A-1. B-II, VC-III, D-IV
Options :

68634078777. 1
68634078778. 2



68634078779. 3
68634078780. 4

Question Number : 96 Question Id : 68634019943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
. Puromyvein I. 308 nibosome
[Kanamycin II. A site of ribosomsy

Ervthromvemn | IIL |165 tfRNA
. |Streptomyvein | IV [235 tRNA

o] fo] o] b

Choose the correct answer from the options given below:

1. A-III. B-IL. C-L. D-IV

| E)

CA-IV. B-II, C-III. D-I
3. A-IL B-III. C-IV. D-I
4. A-I. B-II, C-III. D-IV

Options :

68634078781. 1
68634078782. 2
68634078783. 3
68634078784. 4

Question Number : 96 Question Id : 68634019943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

T I T 1T
TREERE | L [os TEamE
B | I [SEE @A U
URYMAREA |11 165 IRARTAT
. [EvmEiEE |V s dRaR T

FfaiRad f[deedl § O Uel 3ok &l 944 DI

1. A-IIIL, B-II. C-L. D-IV

ofofw]s

|

CA-TV, B-11L C-I11. D-I
3. A-IL B-III, C-IV. D-I
4. A-1, B-I1, C-III. D-IV

Options :



68634078781. 1
68634078782. 2
68634078783. 3
68634078784. 4

Question Number : 97 Question Id : 68634019944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A JActin I. |Binds along the thin filaments
B. PMyosin II. [Binds along the length of thin filamentg
C. |Tropomyosin | Il |[Component of thick filament
D. [Troponin IV |Component of thin filament

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| )

. A-TL, B-1, C-III. D-IV
3. A-IIT, B-IV. C-II. D-I
4. A-IV, B-III. C-II. D-I

Options :

68634078785. 1
68634078786. 2
68634078787. 3
68634078788. 4

Question Number : 97 Question Id : 68634019944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

T 1 T 1
HEE 1. [gdc dd & Ty §féd
EIEE] 11 [0 dq & sy & 91y g
eoEEd |11 [ dq @ ol
cIgi- IV. [4cci dd & 9

fafarad fawent § T 96l SR &1 997 SO -

1. A-I. B-II. C-III. D-IV

ofolw>

| o

A-ILL B-1, C-III. D-IV
3. A-III, B-IV. C-II. D-I
4. A-IV. B-IIL C-II. D-I

Options :

68634078785. 1
68634078786. 2
68634078787. 3
68634078788. 4

Question Number : 98 Question Id : 68634019945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Angiotensin - I1| 1. |Control of body temperature
B. [Dopamine II. [Emotional response
C. |Serotonin III. |Stimulates thirst
D. [Endorphin IV [Induces of sleep

Choose the correct answer trom the options given below:

1. A-IV, B-III. C-II. D-I

| ]

. A-ITL, B-IIIL, C-IV, D-I
3. A-IIL B-II. C-IV. D-1
4. A-I. B-II, C-II1. D-IV

Options :

68634078789. 1
68634078790. 2
68634078791. 3
68634078792. 4



Question Number : 98 Question Id : 68634019945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 gl 11 9 e siforg

T I T 1T
_[ofsmt e - | 1 RRR a9 &1 HdE
EICIEIE I1. [JTaraTe Ufdfhan
BINEEIE] 111 [T AT

TR V. Hig i@
Fafafad Aol ©§ O 9t 9o &1 99 Bl .

1. A-IV. B-IIL. C-II. D-I

o|o|w|>

| ]

. A-ILL B-IILL C-TIV, D-I
3. A-III, B-1I, C-IV. D-I
4. A-1, B-II. C-III., D-IV

Options :

68634078789. 1
68634078790. 2
68634078791. 3
68634078792. 4

Question Number : 99 Question Id : 68634019946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
A |Sucrose I. |The dimer derived from the hvdrolysis of starch and glycogen)
B. [Lactose I1. |A major circulatory sugar in insects: used for energy
C. |Trehalose I11. |A major animal energy source
D. Maltose IV, |A product of photosynthesis

Choose the correct answer from the options given below:

1. A-IV, B-III. C-II. D-I

| E)

CA-L B-III, C-IV. D-II
3. A-IL B-1, C-IV, D-III
4. A-IV. B-1I. C-III, D-I

Options :

68634078793. 1

68634078794. 2
68634078795. 3



68634078796. 4

Question Number : 99 Question Id : 68634019946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 9 fHaH Sifen
T T T 11
A [gHis 1. [ ud Teig el ¥ 3w SIghR
B. [daeld 11 [®iceh! H T URTR Aol Sl $ 0 T
C. [¢iga 111 |3 Sid Sl Fid
D [ IV, [HhT=1 Y=Y $1 3G
frafafad fdeeal & 9 9l SR &1 994 Sifo :

1. A-IV. B-III. C-II. D-I

| ]

A-L B-IIIL C-IV. D-II
3. A-IL B-I, C-IV, D-III
4. A-IV, B-I1, C-III, D-I

Options :

68634078793. 1
68634078794. 2
68634078795. 3
68634078796. 4

Question Number : 100 Question Id : 68634019947 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST1 LISTII

The amino acids with maximum number of
A I |Tp

codon

B The characteristic amine acid in

; R IT. |Ser
lysozvme active site
C T_he amum_acn:l precursor in heme 11 lciu
biosynthesis
D The amino acid contributing the most V. [Gly

" lprotein absorbance at 280 nm

Choose the correct answer from the options given below:

1. A-II. B-III, C-IV., D-I

[ ]

AL B-ITL, C-IV, D-I
3. A-L, B-II. C-III. D-IV
4. A-I. B-IV, C-I1I, D-IT

Options :

68634078797. 1
68634078798. 2
68634078799. 3
68634078800. 4

Question Number : 100 Question Id : 68634019947 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor
il Tl I
A [THFT 3T fYdad digH T & 91y L [P
B. [59gE Wishd ued H (929 Uil o 11 [Ser
C. [619 o9 S=eivor | gd 7E] A1 3 1L [Glu
D. [0HH 37 Sl 280nm TR SAfE® UicH Hauiuddl &l gl IV. |Gly
FHfRad fdeedl O U 98! SR &1 994 Sifoy :

1. A-II. B-III. C-IV. D-I

| ]

AL B-ILL C-IV, D-I
3. A-1, B-II. C-III. D-IV
4. A-1. B-IV, C-III, D-II
Options :

68634078797. 1
68634078798. 2



68634078799. 3
68634078800. 4



